

Board of County Commissioners Agenda Request

Agenda Item #

Requested Meeting Date: 11-12-24

Title of Item: Award Contract 20251 **Action Requested: Direction Requested** REGULAR AGENDA Approve/Deny Motion Discussion Item **CONSENT AGENDA** Adopt Resolution (attach draft) Information Only Hold Public Hearing *provide copy of hearing notice that was published **Department:** Submitted by: John Welle Highway **Estimated Time Needed: Presenter (Name and Title): Summary of Issue:** Bids were opened on Monday, October 21, 2024 for Contract No. 20251 which includes SAP 001-605-015 - bridge replacement on CH 5 over the Rice River near Kimberly. As shown on the attached abstract of bids, three bids were received with Redstone Construction LLC - Mora, MN submitting the low bid in the amount of \$997,321.60. With the cost of this contract estimated at \$1,035,871, the low bid is 3.7% below the estimated amount. **Alternatives, Options, Effects on Others/Comments: Recommended Action/Motion:** Award Contract 20251 to Redstone Construction LLC by attached resolution. **Financial Impact:** *Is there a cost associated with this request?* What is the total cost, with tax and shipping? \$ 997.321.60 Is this budgeted? No Please Explain: Yes \$1,036,000 was budgeted for this project in 2025.

Aitkin County Bid Abstract

Project Name: Rice River Bridge Replacement on CSAH 5

October 21, 2024 at 2:00 PM Bid Opening:

Contract No:

20251

Project No:

SAP 001-605-015

		Project: SAP 001-605-015 - Rice River Bridge Replacement on CSAH 5			Engineer's Estimate		Redstone Construction, LLC - Mora, MN		S & R Reinforcing, Inc Aitkin, MN		Northland Constructors of Duluth, a Division of Mathy Construction Company - Duluth, MN	
Line	Number	Description	Unit	Qty	Estimated Price Estimated Total		Price Total		Price Total		Price	Total
1	2021.501	MOBILIZATION	LUMP SUM	1	\$120,000.00	\$120,000.00	\$85,000.00	\$85,000.00	\$50,525.00	\$50,525.00	\$107,998.30	\$107,998.30
2	2101.501	CLEARING & GRUBBING	LS	1	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$8,750.00	\$8,750.00
3	2104.502	SALVAGE SIGN	EACH	6	\$50.00	\$300.00	\$40.00	\$240.00	\$40.00	\$240.00	\$110.00	\$660.00
4	2106.507	EXCAVATION - COMMON (P)	CY	324	\$12.00	\$3,888.00	\$12.50	\$4,050.00	\$8.00	\$2,592.00	\$15.00	\$4,860.00
5	2106.507	GRANULAR EMBANKMENT (CV)	CY	119	\$25.00	\$2,975.00	\$31.50	\$3,748.50	\$29.00	\$3,451.00	\$42.00	\$4,998.00
6	2106.507	COMMON EMBANKMENT (CV) (P)	CY	1,293	\$19.00	\$24,567.00	\$19.00	\$24,567.00	\$23.00	\$29,739.00	\$26.00	\$33,618.00
7	2118.509	AGGREGATE SURFACING CLASS 5	TON	400	\$25.00	\$10,000.00	\$23.00	\$9,200.00	\$22.00	\$8,800.00	\$40.00	\$16,000.00
8	2123.51	3.0 CU YD SHOVEL	HOUR	8	\$200.00	\$1,600.00	\$225.00	\$1,800.00	\$180.00	\$1,440.00	\$230.00	\$1,840.00
9	2123.51	DOZER	HOUR	8	\$200.00	\$1,600.00	\$190.00	\$1,520.00	\$180.00	\$1,440.00	\$215.00	\$1,720.00
10	2401.503	TYPE S (TL-4) BARRIER CONCRETE (3S52) (P)	LF	228	\$180.00	\$41,040.00	\$100.00	\$22,800.00	\$150.00	\$34,200.00	\$190.00	\$43,320.00
11	2401.507	STRUCTURAL CONCRETE (3B52) (P)	CY	111	\$1,150.00	\$127,650.00	\$1,300.00	\$144,300.00	\$1,517.34	\$168,424.74	\$1,600.00	\$177,600.00
12	2401.508	REINFORCEMENT BARS (EPOXY COATED) (P)	LB	73,620	\$1.65	\$121,473.00	\$1.28	\$94,233.60	\$1.28	\$94,233.60	\$1.35	\$99,387.00
13	2401.508	REINFORCEMENT BARS (STAINLESS-75KSI) (P)	LB	870	\$5.00	\$4,350.00	\$4.25	\$3,697.50	\$4.54	\$3,949.80	\$4.15	\$3,610.50
14	2401.518	BRIDGE SLAB CONCRETE (3YHPC-M) (P)	S F	4,394	\$52.00	\$228,488.00	\$60.00	\$263,640.00	\$69.20	\$304,064.80	\$65.00	\$285,610.00
15	2401.601	STRUCTURE EXCAVATION	LUMP SUM	1	\$18,000.00	\$18,000.00	\$7,500.00	\$7,500.00	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00
16	2401.601	SLOPE PREPARATION	LUMP SUM	1	\$12,000.00	\$12,000.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$13,000.00	\$13,000.00
17	2402.502	FLOOR DRAIN TYPE B702	EACH	4	\$750.00	\$3,000.00		\$2,600.00	\$575.00	\$2,300.00	\$850.00	\$3,400.00
18	2406.504	BRIDGE APPROACH PANELS (P)	SY	309		\$83,430.00	\$290.00	\$89,610.00	\$231.40	\$71,502.60	\$285.00	\$88,065.00
19	2442.501	REMOVE EXISTING BRIDGE	LUMP SUM	1	\$35,000.00	\$35,000.00	\$39,000.00	\$39,000.00	\$33,100.00	\$33,100.00	\$32,500.00	\$32,500.00
20	2451.607	STRUCTURAL BACKFILL (CV) (P)	CY	560		\$14,000.00		\$25,200.00	\$29.00	\$16,240.00	\$60.00	\$33,600.00
21	2452.502	STEEL H-TEST PILE 45 FT LONG 10"	EACH	2	\$12,000.00	\$24,000.00		\$12,000.00	\$9,700.00	\$19,400.00	\$5,000.00	\$10,000.00
22	2452.502	STEEL H-TEST PILE 50 FT LONG 10"	EACH	2	\$12,500.00	\$25,000.00		\$14,000.00	\$12,500.00	\$25,000.00	\$6,000.00	\$12,000.00
23	2452.502	PILE TIP PROTECTION 10"	EACH	20		\$6,000.00		\$2,700.00	\$110.00	\$2,200.00	\$130.00	\$2,600.00
24	2452.503	STEEL H-PILING 10"	LF	600		\$39,000.00	\$65.00	\$39,000.00	\$74.30	\$44,580.00	\$80.00	\$48,000.00
25	2452.603	16" STEEL PILE SHELLS	LIN FT	135		\$11,475.00	\$140.00	\$18,900.00	\$187.00	\$25,245.00	\$160.00	\$21,600.00
26	2502.501	DRAINAGE SYSTEM TYPE (B910)	LS	1	\$2,500.00	\$2,500.00	\$3,300.00	\$3,300.00	\$4,000.00	\$4,000.00	\$2,400.00	\$2,400.00
27	2511.504	GEOTEXTILE FILTER TYPE 7	SY	640	7	\$2,560.00	\$4.00	\$2,560.00	\$5.00	\$3,200.00	\$5.00	\$3,200.00
28	2511.507	RANDOM RIPRAP CLASS III	CY	300		\$28,500.00	\$115.00	\$34,500.00	\$98.00	\$29,400.00	\$90.00	\$27,000.00
29	2563.601	TRAFFIC CONTROL	LUMP SUM	1	\$7,500.00	\$7,500.00	\$3,800.00	\$3,800.00	\$4,300.00	\$4,300.00	\$4,250.00	\$4,250.00
30	2573.501	EROSION CONTROL SUPERVISOR	LS	1	\$2,500.00	\$2,500.00	\$600.00	\$600.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00
31		CULVERT END CONTROLS	EACH	1	\$500.00	\$500.00	\$195.00	\$195.00	\$300.00	\$300.00	\$275.00	\$275.00
32		SILT FENCE, TYPE MS	LF	1,001		\$3,003.00	\$4.00	\$4,004.00	\$3.50	\$3,503.50	\$4.20	\$4,204.20
33	2573.503	FLOTATION SILT CURTAIN TYPE MOVING WATER	LF	350	\$12.00	\$4,200.00	\$20.00	\$7,000.00	\$25.00	\$8,750.00	\$45.00	\$15,750.00

		Project: SAP 001-605-015 - Rice River Bridge Replacement on CSAH 5			Engineer'	s Estimate	Redstone	Constru	ction, LLC - Mora,		orcing, Inc n, MN	Division of Mat	uctors of Duluth, a thy Construction Duluth, MN
Line	Number	Description	Unit	Qty	Estimated Price	Estimated Total	Price		Total	Price	Total	Price	Total
34	2573.503	SEDIMENT CONTROL LOG TYPE STRAW	LF	430	\$3.00	\$1,290.00		\$4.00	\$1,720.00	\$3.50	\$1,505.00	\$4.50	\$1,935.00
35	2575.501	TURF ESTABLISHMENT	LS	1	\$5,000.00	\$5,000.00	\$6,3	300.00	\$6,300.00	\$6,000.00	\$6,000.00	\$4,300.00	\$4,300.00
36	2575.504	ROLLED EROSION PREVENTION CATEGORY 74	SY	156	\$25.00	\$3,900.00	Ş	\$22.00	\$3,432.00	\$20.00	\$3,120.00	\$50.00	\$7,800.00
37	2575.504	ROLLED EROSION PREVENTION CATEGORY 25	SY	2,444	\$3.00	\$7,332.00		\$3.50	\$8,554.00	\$2.50	\$6,110.00	\$2.25	\$5,499.00
38	2575.523	RAPID STABILIZATION METHOD 3	MGAL	21	\$250.00	\$5,250.00	\$	\$50.00	\$1,050.00	\$250.00	\$5,250.00	\$750.00	\$15,750.00
	Totals for Project SAP 001-605-015					\$1,035,871.00			\$997,321.60		\$1,054,606.04		\$1,167,600.00
	% of Estimate for Project SAP 001-605-015								-3.72%		1.81%		12.72%

I hereby certify that this is an exact reproduction of bids received. John Welle Digitally signed by John Welle Date: 2024.10.22 07/11:88-05000 License No. 24340

CERTIFIED COPY OF RESOLUTION OF COUNTY BOARD OF AITKIN COUNTY, MINNESOTA

ADOPTED

November 12, 2024

By Commissioner: xxx

20241112-xxx

Award Contract 20251

WHEREAS, Contract No. 20251 is for construction of SAP 001-605-015, and

WHEREAS, sealed bids were opened for this project at 2:00 p.m. on Monday, October 21, 2024 with a total of three bids received, and

WHEREAS, Redstone Construction LLC – Mora, MN - was the lowest responsible bidder in the amount of \$997,321.60.

NOW THEREFORE, BE IT RESOLVED, that Redstone Construction LLC be awarded Contract 20251.

BE IT FURTHER RESOLVED, that the chairperson of the Aitkin County Board and the Aitkin County Administrator are hereby authorized and directed to enter into a contract on behalf of Aitkin County with said low bidder upon presentation of proper contract documents

Commissioner xxx seconded the adoption of the resolution and it was declared adopted upon the following vote

XXX MEMBERS PRESENT

All Members Voting xxx

STATE OF MINNESOTA) COUNTY OF AITKIN)

I, Jessica Seibert, County Administrator, Aitkin County, Minnesota do hereby certify that I have compared the foregoing with the original resolution filed in the Administration Office of Aitkin County in Aitkin, Minnesota as stated in the minutes of the proceedings of said Board on the 12th day of November 2024, and that the same is a true and correct copy of the whole thereof.

Witness my hand and seal this 12th day of November 2024

Jessica Seibert	
County Administrator	